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. Structure and Vocabulary
Beneath each of the following sentences, there are 4
choices marked A, B,C, and D. Choose the one that
best completes the sentence. Mark your answer on the
ANSWER SHEET by blackening the corresponding let-
ter in the brackets. (For Section A and Section €)
Section A Structure (5 points)

1. The city of Montreal over 70 square miles.
A. is covering B. covers
C. that covers D. that covered

2. He looked in the driving mirror and saw the lorry
over his car.

A. come B. coming
C. having come D. to come

3. Middle-school students at this level are
mentally, to be subject to involuntary distractions
and romantic dreaminess.
A. likely to confuse B. like to be confused
C. likely to be confused
D. like to have been confused

4. The conference ended a discussion of the
future of China’s development on science and tech-

e 1.



nology.
A. up B. with C. by D. in

. Not only open-mindedness in the potential

spectator but you positively try and prevent him
reaching his own conclusions about the work.
A. you do not encourage B. you not encourage

C. do you not encourage D. do not you encourage

your English is very good, you probably
do not know the words “dipatick” or “stoat”.
A. Tf B. Unless
C. As long as D. Provided that
There are five factories in our university for students
to have their practice, over 50-to-100
workers.
A. with each having B. each haveing

C. each of which having D. in each there are

Everything that enlarges the sphere of human pow-

ers, that shows he can do he thought he
could not do, is valuable.

A. what B. which

C. that D. whatever

You the bus if you a little earli-
er.

A. could take; started
B. could have taken; had started
C. could take; had started



10.

Section

D. could have taken; started

Joe that there was no reason why a two-
handed team of drummers . ever get
nicked.

A. was used to maintain; should
B. used to maintain; was to

C. used to maintain; should

D. was used to maintaining; would

B Error Detection (5 points)

Each of the following sentences has four underlined

parts marked A,B,C, and D. Identify the part of the

sentence that is incorrect and mark your answer on the

ANSWER SHEET by blackening the corresponding let-

ter

11.

12.

13.

in the brackets.
The supermarket was reported to be destroyed in
A B C
an earthquake some time in 1970s.
D

African leaders of today are facing with the prob-

lem of transforming or adapting the old, tradition-

B C

al systems into larger-scale political communities.

D

All this T saw around me seemed affected , nonsen-

A B C

sical, or to be profane.
D




14.

15.

16.

17.

18.

19.

@ you remember me ask you to stay at my home

B C D
for a few days?

Thomas Jefferson was very ambition and served his

A B

country in several different capacities.

C D

The entire testing facility at Noordwijk is designed
A B

so that the space vehicles and satellites being tested

C

can be easy moved from one laboratory to another.
D ;
Only by making an effort to swiftly eliminate flaws
B

in the system of economic management that hinder

C
the growth of productive forces and establish dy-

namic systems, China can obtain steady growth of
D

its economy in the next five, ten, twenty years or

more, the proposal stressed.
You have probably heard the saying

A
“running around like a chicken with its head
B C
to be cut off”,
D
You said the periodicals were on the desk but
A B C
there were no ones there.
D



20. When the storm comes all the windows
A B C

ought to have been closed,
D

Section C Vocabulary (10 points)

21. The wife sat near the entrance for a long time
her husband, but he didn’t return.

A. expecting B. waiting

C. hoping D. looking to
22. When at a party, be sure not to turn the

person who tries to engage you in conversation.

_A. off B. away
C. down D. back
23. Astronomers have found the first that

gravity waves exist.

A. examination B. evidence
C. thesis D. denial

24. T could guess from her unsuccessful performance
that she hadn’t gone music long.
A. on to B. into
C. in for D. up for

25. With my new classes, I was able to all
my students , except three whose English

were weakest.

A. get... over B. get ... through
C. put ... up with D. put ... through
26. what he says, he wasn’t there when the

e 5



27

28.

29.

30.

31.

32.

. 6o

crime was committed.

A. Foliowing B. Listening to

C. According to D. Judging

Please my luggage while I telephone to
my friend.

A. keep an eye on B. pay attention to
C. take notice as to D. have a watch on

There is always excitement at the Olympic Games

when a previous record of performance is

A. matched B. exceeded

C. maintained D. announced
I do I could play chess more proficiently

than my brother.

A. want B. know
C. wish D. hope

The star for jazz music has never been so

since his successful tournament performance

abroad.

A. famous B. well-known

C. popular D. preferable

My psychology instructor agreed to answer ques-
tions, providing they were to the class.
A. related B. relevant

C. relative D. corresponding

of gift-giving, barter (5 %3¢ 5 ), buy-



33.

34.

35.

36.

37.

ing, and selling goes on among the native Indians
in this district.

A. A great deal B. A great many
C. Much greater D. Large numbers
Although we live in a wonderful age of computers,
my contact with thinking machines has been

the lowest order-automatic vending ma-

chines.

A. restricted in B. confined with
C. limited to D. restrained by
Jane lived quite alone in the world an in-

valid aunt in London.

A. besides B. beside

C. but for D. except for

To one who has never cen an auto race, the sport
can be

A. revealing. moving and sounding

B. uncommon, enchanting and ¢ntertaining

C. informing. exciting and noising

D. frightening. confusing and thrilling

One of the most widely believed—and dangerous—

about the shark is that he has poor eye-

sight.

A. legends B. stories

C. talks D. discussions
Likewise, after his twin Olympic victories, Math-
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ias an offer from pro-football’s Washing-
ton Redskins.

A. gave up B. turned down
C. gave way to D. turned up
38. No one in the office can how the fire
started.
A. make out B. clear out
C. figure out D. turn out
39. My jacket had been so in packing that I
had to iron it before going out.
A. faded B. dirty
C. untidy D. crushed
40. After a lot of difficulty, the accountant to

open the safe.
A. managed B. succeeded

C. obtained D. attempted

I. Cloze (10 points)
For each numbered blank in the following passage.
there are four choices marked A,B,C, and D. Choose
the best one and mark your answer on the ANSWER
SHEET by blackening the corresponding letter in the
brankets.
Bierney Park has been located at the edge of downtown
Chesterton for forty years. When I moved here in 1980, I
remember (41) my family to the park for a picnic.

8



Since then, we have gone there once a year for the annual
Chesterton Fiesta. (42) , I’ve read in the newspaper
that the city is thinking of tearing up the park to (43) a
new bank franchise (4§4%) that is moving to town. I’'m go-
ing to the city council meeting next Wednesday, along with
a lot of other citizens, to try and help save the old park.

First of all, Bierney Park is a city landmark. It has
been here  (44) most buildings, and local citizens have
enjoyed it for forty years. If the park  (45) , the city
loses a valuable part of its history. The destruction of Bier-
ney Park would also be a loss to every citizen with a sense of
history.

The park is also  (46)  gathering place in town for
people of all ages. There is a playground for children with
slides, swings, monkey bars, and sandboxes. There are
two open areas (47)  volleyball, baseball, or football
games. There are hundreds of shade trees  (48)  senior
citizens relax under in the summer and high school students
sit under spring and fall lunch breaks. ... If Bierney Park is
torn out, there is no place in town like it for people to con-
gregate.

(49) , Bierney Park provides the best location for
special outdoor events. All of the city’s spring and summer
concerts are held in the park’s bandstand. The park is used
for the city’s annual Easter egg hunt and for the Hallowen
costume judging. It was used for the Miss Chesterton beau-

090



ty (50)

last spring, and it was used all summer for city-

run bingo games. It is also rent out for charity garage sales

on Saturday mornings, and during the Chesterton Fiesta, it

is lined with over thirty food booths. The city would be los-

ing a valuable outdoor event center if it tore up Bierney

Park.
41.

42.

43.

44.

45.

46.

47.

48.

49.

50.
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to take

to have taken
Later

Lately

. make house for
make room for

. so long as

as far as

is torn out

was to tear up

best

the most

. for

as to

. where

that

At last

In the end
competition

contest
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taking

having been taking
Latter

Late

make building to
make space to

as long as

as compared with
is tearing up

is going to tear up
the best

the very

as for

to

what

whereby

Finally

At the end

match

show



Il . Reading (40 points)
Each of the passages below is followed by some ques-
tions. For each question there are four answers marked
A,B,C. and D. Read the passages carefully and choose
the best answer to each of the questions. Then mark
your answer on the ANSWER SHEET by blackening

the corresponding letter in the brackets.

1

Child labor is growing problem. and not just in devel-
oping countries, according to the International Labor Office
(ILO). A new study reveals that 25% children between the
ages of 10 and 14, in both Asia and western Europe, are es-
timated to be working, many under illegal or dangerous con-
ditions.

According to M. Hansenne, ILO director general,
“Child labor is a human rights problem. It is just unaccept-
able that more than a hundred million children are working,
that so many children are denied their basic rights.” The
study defines unacceptable child labor as conditions where
children are “exploited, overworked, or deprived of their
rights to health, education, and childhood. ”

The earning power of such children is pathetically low.
Youngsters in Indonesian light bulb factories work an eight-
hour day, six-day week for the equivalent of $ 3 in US cur-
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